Today we are going to experiment on Ada (safely and humanely, as you will see) by putting her into
some very interesting machines, and seeing what kinds of things can happen to her.
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A bacteria culture grows exponentially. The number of cells (in millions) after t hours
071

is given by the function N (¢) = 3e
a) What is the population after 6 hours? After 12 hours?

b) The continuous growth rate is given as 0.07. By what percentage does the bacteria
culture grow every hour?
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Simplify the expression by writing it as a single exponential/logarithm:
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Solve for x:
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P.S... | actually have two bunnies... here are Ada and Mips




